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SEOENTRROYUE FPHEEEE (FR27%78) 4
(BEAT; W)
A X X N & + H
. | | 1 [80% 2 |82u 3 [84u 4 |82% 5 [81%
ﬁé‘zgﬁ % 1830 % 1,900 F 1,900 = 1700 #1540
fit 2277 f# 2,297 fit 2241 f# 2,055 fit 1889
ik 81% 81% 83% 77% 82%
(RESRIE) 1,862 (1085-1185) | 1,860 (14m5-158%) | 1880 (148%-158%) | 1,589 (11m5-128%) | 1,549 (198%-208%)
rEYHIR
. 6 |77% 7 |77% 8 [82u 9 [87% 10 [86% 11 [80% 12 [83%
?,Eg % 1810 £ 1,760 = 1,910 = 2010 = 2110 = 1,930 = 1,890
f# 2,342 f#t 2,281 f#t 2,309 f# 2304 f# 2426 f#t 2,406 fit 2,269
i 74% 79% 82% 88 88 78% 84%
(ResRiE) | 1,745 (11m5-128%) | 1.815(1185-128%) | 1,910 (1ams-158%) | 2,044 (1685-178%) | 2,143 (14B5-158%) | 1,893 (1385-148%) | 1,920 (1985-208%)
FEY SR BEGSWREAL
. 13 [91% 14 [89% 15 [83% 16 [82% 17 [87% 18 [74% 19 [79%
i,‘; % 2,300 % 2350 + 2270 % 2,150 % 2,080 % 1810 F 1,770
f# 2527 f#t 2614 fit 2,703 % 2,619 it 2,370 #2414 fit 2229
i 90% 89% 86% 82% 83% 72% 80%
(ReRAE) | 2,207 (1685-178%) | 2,334 (1485-158%) | 2,337 (1685-178%) | 2,152 (138-148%) | 1,969 (1185-1285) | 1,745(198%-208%) | 1,790 (1985-208%)
rEVHIR RIS AR aﬁ:s%ﬁfiﬁiiﬁwa
- 20 [84% 21 (85% 22 (84 23 [83% 24 (849 25 [78% 26 |79%
ig = 1970 = 2330 £ 2110 = 2110 = 2,160 = 2020 = 1,970
f#t 2,343 f# 2,716 f#t 2486 f#t 2,535 f#t 2,568 f#t 2,560 fit 2469
i 81% 80% 81% 77% 85% 78% 79%
(ResiE) | 1,911 (1685-178%) | 2178 (148%-158%) | 2,030 (11ms-128%) | 1971 (1185-128%) | 2,204 (14m5-158%) | 1,098 (1685-178%) | 1,954 (1985-208%)
FEYHR =154, 2B BRI
. 2778w 28 [79% 29 [814% 30 [82% 31 (881 | |
$EE ™ 2210 #2290 #2360 % 2380 % 2480
f#t 2,889 f# 2,879 f#t 2,889 f#t 2,868 f# 2791
i 80% 81% 82% 83% 90%
(ResRiE) | 2,340 (13m5-148%) | 2,348 (148%-158%) | 2,383 (1685-178%) | 2,383 (1685-178%) | 2,524 (1685-178%)
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SEOBRIFHRDOYU B FHELEE (FR2748H)

(B AkW)
A 5]
| | | | | 1 [78% 2 |78%
%E == ==
18 £ 2200 £ 2110
it 2,785 fit 2673
4 81% 80%
(FesR i) 2277 (1485-158%) | 2,157 (1985-208%)
rEYHR
. 3 |91% 4 |86% 5 [87% 6 [90% 7 |89w 8 784 9 [78%
ig £ 2540 E 2510 £ 2520 E 2570 F 2530 £ 2,250 F 2140
f#t 2,781 fit 2,902 it 2,864 it 2854 it 2,839 it 2,881 fit 2,736
s 91% 88% 88% 86% 89% 81% 76%
(FESRAE) | 2,536 (158F-168F) | 2,556 (16BF-178F) | 2,548 (16BF-178%) | 2,468 (14B5-158%) | 2,527 (16B5-178%) | 2,340 (148-158%) | 2,089 (198F-208F)
rEYHR
. 10 [88% 11 [80% 12 [80% 13 [79% 14 [75% 15 [80% 16 [78%
i*'f'a % 2590 72280 & 2100 % 1870 % 1780 £ 1,830 E 1,850
#2938 it 2,846 #2621 f#t 2,363 it 2,346 #2264 f#t 2,368
s 80% 78% 74% 75% 75% 80% 73%
(FESR1E) | 2,377 (14B%-158%F) | 2,244 (14B%-158%F) | 1,960 (1585-168%) | 1,788 (1985-208%F) | 1,777 (19B%-208%) | 1,827 (19B%-208%) | 1,743 (18B%-198%)
rEYHR | IE=6BH#E S ERRTE
. 17 [77% 18 [78% 19 [76% 20 [76% 21 [78% 22 [76% 23 (77%
i,@ £ 2050 £ 2190 £ 2160 £ 2100 Z 2,150 £ 2,050 £ 1880
it 2,655 it 2,804 it 2,818 fit 2743 fit 2,751 it 2,684 fit 2421
=i 78% 77% 71% 74% 80% 72% 73%
(FERR1E) | 2,093 (14B%-158%F) | 2,181 (16B%-178%F) | 2,011 (1185-128%) | 2,048 (1685-178%) | 2,201 (14B%-158%) | 1935(11RF-128%) | 1,785 (19B%-208%)
rEYHR
. 24 [78% 25 |78% 26 [78% 27 [83% 28 [89% 29 [85% 30 [77%
ig £ 2250 £ 2,050 £ 2150 £ 2130 £ 2110 £ 1,380 £ 1660
#2868 f#t 2,608 #2752 f#t 2,560 it 2347 #2210 #2149
4 74% 78% 74% 82% 90% 82% 78%
(FeskiE) | 2,127 (1685-178%) | 2,036 (1oBs-118%) | 2053 (1585-168%) | 2120(16-178%) [ 2,135(14R%-158%) | 1,834 (1385-148%) | 1,695 (18R5-198%)
rEYHR
v |31083% | | | | | |
ig £ 2,020
it 2,424
s 77%
(FESR1E) | 1,878 (11RF-128F)
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6
(B 51 ; AKW)
A K 7K X & + ]
. | 1 |84y 2 [87u 3 [84u 4 884 5 |75% 6 |71%
ig = 1960 F 2,040 % 1910 % 1960 %F 1720 % 1580
f# 2,320 f# 2,338 f# 2,265 f# 2217 # 2,275 f# 2,197
=i 89% 84% 84% 86% 73% 72%
(HE#R1E) 2,068 (1485-158%) | 1,978 (148%-158%) | 1,915 (108%-118) | 1,918 (1685-178%) | 1677 (1885-198%) | 1594 (1885-198%)
FEYHR
. 7 |77% 8 [85% 9 [84u 10 [78% 11 [80% 12 [75% 13 [75%
ig = 1870 Z 1,830 Z 1,840 Z 1810 Z 1,820 = 1,600 = 1560
f# 2418 # 2,132 f# 2174 f# 2307 #2271 f# 2,106 f# 2,080
i 73% 85% 82% 79% 76% 76% 74%
(FEHRfB) | 1,785(1805-190%) | 1,820 (1685-178%) | 1,785(18R%-198%) | 1,845 (108%-1185) | 1,744 (16R5-178%) | 1,610(18FF-198%) | 1,555 (18RF-198F)
FEY R BE2SHREAL 2 S
. 14 [82% 15 [86% 16 [89% 17 [86% 18 [87% 19 [85% 20 [82%
i*?ﬁ % 1770 = 1,740 F 1,760 & 1,720 # 1,730 ™ 1,510 # 1450
#2141 f# 2,018 f# 1,957 f# 1978 f# 1,967 #1772 f# 1764
T4 80% 89% 90% 88% 87% 85% 84%
(ReskiE) | 1,732(188%-198%) | 1.802(1885-108%) | 1,762 (1185-128%) | 1,745(108%-118%) | 1,721 (118%5-128%) | 1513 (188%-198%) | 1,491 (18B%-198%)
rEWHR
L 21824 22 [80% 23 [87% 24 [83% 25 [82% 26 [77% 27 [78%
?C,EE = 1500 = 1,560 Z 1,650 = 1,780 = 1,780 = 1580 = 1580
fit 1813 fit 1,926 fit 1,885 # 2,127 it 2,169 fit 2,033 fit 2012
i 85% 83% 87% 81% 81% 79% 77%
(FEHRfB) | 1542 (18R5-190%) | 1,610 (18R5-1908%) | 1,654 (18R%-198%) | 1,730 (108%-1185) | 1,765(17R%-18R%) | 1,618 (11FF-128%) | 1,556 (18RF-198F)
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